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SM45E3A31BHRE (Bfr: M)
F H LEE HIERE B
I EEDOE
1. RBEE
HEE® 445,892 1,459,594 A 1,013,702
RILAE 1,900 7,505 A 5,605
RBEESET A 447,792 1,467,099 A 1,019,307
2. BEEE
(MEREBLE
TEHTEE® 57,000,000 57,000,000 0
EKBESE B) 57,000,000 57,000,000 0
QFDODOEFEEE
EEES 4,813,785 4,813,785 0
EHATEE 30,000,000 30,000,000 0

TOMOETEEESS (C) 34,813,785 34,813,785 0

BEEEEE (D)=B)+(C) 91,813,785 91,813,785 0

BEASE (BE)=A+D) 92,261,577 93,280,884 A 1,019,307

I &{EDE
1. RBIRE
K& 678,430 1,023,576 A 345,146
JAYE 0 A 61 61
RENBESET (P 678,430 1,023,515 A 345085
2. BIEEE
BE&ESE (@ 0 0 0
BESE H=F)HG) 678,430 1,023,515 A 345,085
Il IEBRBAEDER
1. $BEIEBRBAE _

e EREFE &FF (D=(B) 57,000,000 57,000,000 0
ObEKRME~DTHED (57,000,000) (57,000,000) (0)
GLBEEEE~DIFTLEE (0) (0) (0)

2. —fRIERREAE (U)=(E)-(H)-() 34,583,147 35,257,369 A 674,222

EREFESET (K=(D+() 91,583,147 92,257,369 A 674,222

BERUVEKMESE L=(H)+K) 92,261,577 93,280,884 A 1,019,307




Al =&t
SHMA4EIAS1 BRI (B A
7 | LEE HIEE P
I EEDH
1. REVEE A
HeEe 3,234,944 2,685,479 549,465
EKIRAE 750,509 513,753 236,756
RBEESET W) 3,985,453 3,199,232 786,221
2. AEEE
(MZOMEEEE
TOMEEEESE B) 0 0 0
EE&EESET (C)=(B) 0 0 0
BESE D)=(A)+(C) 3,985,453 3,199,232 786,221
I BEDE
1. RB&E
K& 7,926,200 7,646,917 279,283
KIHERSE 746,500 840,800 A 94,300
KIEATE 72,000 72,000 0
JAYE 307,704 232,073 75,631
REIAESE ©® 9,052,404 8,791,790 260,614
BEAEE F=E) 9,052,404 8,791,790 260,614
Il IERREAEEDER
1. ¥8E IERRBA
{EEEKBESET (G) 0 0 0
ObLERBE~DI T L%E) (0 (0) (0)
OBEREEE~DITLEE) (0) (0) (0)
2. —{RIEBREAE (H)>=(D)-(F)-(G) A 5,066,951 A 5592558 525,607
IERRBFE&ET (D=(G)+(H) A 5,066,951 A 5592558 525,607
BERUVERMESE (D=(F)+D 3,985,453 3,199,232 786,221
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SHA4EIA31BRAE (B M)
- F = —REE HalsEt & &t
I EEDE
1. REVEE
BEESE 445,892 3,234,944 3,680,836
XRIRAE 1,900 750,509 752,409
RENEESET A 447,792 3,985,453 4,433,245
2. EEEE
(DEKREBFE
EHTE® 57,000,000 0 57,000,000
EAKIHESE B) 57,000,000 0 57,000,000
QOZFDhOEEEE
LEnEs 4,813,785 0 4,813,785
TEHTES® 30,000,000 0 30,000,000
FTDMDOBEEEEESE (C) 34,813,785 0 34,813,785
BEEEESET (D)=(B)+(C) 91,813,785 0 91,813,785
BEA/E E)=A)+D) 92,261,577 3,985,453 96,247,030
I BEDH
1. RBAE
*iL& 678,430 7,926,200 8,604,630
KIHERE 0 746,500 746,500
Kk ANThE 0 72,000 72,000
JEYE 0 307,704 307,704
RBAESE P 678,430 9,052,404 9,730,834
2. BEAE
EE&ESE Q) 0 0 0
BEAE H=F+G) 678,430 9,052,404 9,730,834
I IERKREAEEDER
1. IR EIERKRELE
IEEIEREAESRT O 57,000,000 0 57,000,000
OBLERBEADITHEE) (57,000,000) (0) (57,000,000)
OB EEENDILEE) (0) (0) (0)
2. —RRIERREAZE (I=(E)-(H)-(D 34,583,147 A 5,066,951 29,516,196
ERBAESET K=(0)+1) 91,583,147 A 5,066,951 86,516,196
BERUVIERBMESE LO=HHK) 92,261,577 3,985,453 96,247,030




